BC Calculus – FDW 3rd Edition – Section 1.2 Even Answers

Quick Review 1.2

2. x < 0, x > 2    4. 
[image: image1.wmf]3,7

xx

£-³

   6. [-3,3]   8. shift f(x) 5 units right and up 2 

10.(a) -1/5  (b) No solution   12.(a) x = -7  (b) x = 28

Section 1.2
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6.(a) All Reals, 
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6.(b)[image: image10.jpg]


 8.(b)[image: image11.jpg]


 10.(b)[image: image12.jpg]
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14.(a) 
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   16.(a) [-3,3], [0,3]   18.(a) 
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14.(b)[image: image17.jpg]


16.(b)[image: image18.jpg]


18.(b)[image: image19.jpg]


20.(b)[image: image20.jpg]



22. Neither   24. Even   26. Odd   28. Neither   30. Even

32.[image: image21.jpg]


34.[image: image22.jpg]


36. Fails the ‘vertical line test’.

38. yes  40. no  42. 
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  44. 
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 48. 
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  50.(a)[image: image27.jpg][-3.6] by [-1, 5]



(b) All Reals  (c) 
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52.(a) x  (b) x  (c) 0  (d) 0  (e) -4  (f) x + 2   54.(a) y = 2.893x2 – 24.107x + 590.214 

(b) [image: image29.jpg]


 (c) $1.093 billion  (d) y = 33.75x + 312.5,  $920 million in 2008
BC Calculus – FDW 3rd Edition – Section 1.2 Even Answers (continued)
	x=500
	$1,175,812

	x=1500
	$1,212,000

	x=2000
	$1,243,732

	x=2500
	$1,278,479

	x=3000
	$1,314,870


56.(a) 
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 (b) < 2000 ft

58. True, 
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60. A    62. C

64. [image: image32.jpg]Forfo g:
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[~6, 6] by [~4, 4]

Domain: [0, <); Range: (==, 1]
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{—2.35,2.351 by [~ 1, 2.1]




66. [image: image34.jpg]Forfog:

/

[~9.4,9.4] by [~6.2, 6.2]

Domain: (=2, 2) U (2, %);
Range: (—=, 2) U (2, =)



[image: image35.jpg]Forgo f:

J

[—9.4,9.4] by [-6.2,6.2]
Domain: (=%, —=3) U (=3, %)
Range: (=%, =3) U (=3.%)
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70.(a)[image: image38.jpg]
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72.(a) Yes, 
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(b) 
[image: image41.wmf], odd , ()()()()()()()

fghfghxfxgxfxgxfgxhx

Ù=-=--=-×-==

, even.
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